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SECTION 2: SHORT ANSWER QUESTIONS [1 hours]. ANSWER SIX(6)

QUESTIONS ONLY.

1. Define the concept of cross elasticity of demahd wifh an example.
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10. lllustrate the concept of marginal costs in the delivery of health services.
Marginal costs = Change in variable costs

Change in total outputs
Marginal cost is defined as the extra cost incurred in producing an extra item.

An increase in the delivery of health services will probably increase the marginal costs required to deliver that
service e.g. an extra health worker required for the service delivery. This will eventually limit the output of the

service delivery.



HEALTH ECONOMICS

The health sector is involved in the production process,
what is the output of the production process and how are
factors of production combined to produce the output?

Define ‘Adverse Selection’ in health insurance and explain
how many insurance plans deal with it.

Explain the concept of Consumer Ignorance in the use of
health services

lllustrate diagrammatically when a market surplus or
commodity glut occurs in a market:

Define the concepts of average and marginal costs. Give an
application example in the provision of health care



* Why does Social Health Insurance appear to be more promising
for financing health care than private insurance in poor
countries like Kenya?

1) Social because it has the element of solidarity i.e. it includes

everybody as part of social obligation

2) Uses social operational framework. It is centred on the public
health system and uses its organizational main frame

3) The opt-out exclusion criteria does not apply (price is not the
determinant of membership)

4) Services are developed on basis of need (as opposed to
demand); On the basis of Burden of diseases — improve access
to care

5) Social (community) involvement in the realms of financing,
management, and accountability



LUl LILIT

« Spending on health care does not necessarily
mean good health. Explain briefly

* With an example of your choice distinguish
between real and observed needs approaches in
health provision.









